
                           КОНТРОЛЬНАЯ РАБОТА (тестовый вариант 2024) 

 

1.  

















































 























2

1

4

3

2

1

c

c

11

11

02

31

1

1

3

1

x

x

x

x

 

 

2. Cxln)3x(arctg9)10x6xln(
2

1 2   

 

 

3. 2ln3   

 

4. x)1k2cos(
)1k(k

1)1)(1k2(
)x(f

0k

k











   

 

5.  
x

6

1

2

x

1

x2
ecece)x

25

3
x

20

1
(   

 

6. )
4

11
(i2

2



  


